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General Instructions Total marks — 55
¢ Working time — 70 minutes Exam consists of 4 pages.
o Write using black or blue pen
« Board-approved calculators may be used This paper consists of TWO sections.
e Show all necessary working in
questions 6 to 13 Section 1 — Page 2
e Marks may be deducted for careless or Questions 1-5 (5 marks)
badly arranged work e Attempt Question 1-5
Section Il — Pages 3-4 (50 marks)
e Attempt questions 6 to 13




Section | - 5 marks
Attempt questions 1-5

Use the multiple choice answer sheet for question 1-5

Evaluate 1 2x>—11x+5
valuate lim —; —-

(A) 0 (B) — © = (D) not defined

2. Equation of the line in the following diagram is given by
Y

]9
i
(A) y=:x+5 (B) y=x+5
(©y=—sx+5 (D) y = —sx+10

A /XNE;( ; B

In the diagram, EB = EC, £BCE = «DCE and BC || ED.ACDE

(A) is equilateral (B) isisosceles
(C) is scalene (D) cannot be determined
¥ H

The line GH makes an angle of 30° with the y-axis, as shown in the diagram. What is

the gradient of GH
(A) V3 (B) -
1 V3
O 5 (D)
5. X

The three inequalities to describe the shaded region given above are
A) y<0x=>23x—-2y+6<0 B) y<0,x<43x—-2y—-6<0
O y<0,x=223x—2y—6=>0 D) y<0,x<43x—2y+6=>0
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Section Il — Extended Response

Attempt questions 6-13.

Answer each question on a SEPARATE PAGE. Clearly indicate question number.
Each piece of paper must show your name.

All necessary working should be shown in every question.

6.
P~ Q
Given SR || PQ and that SQ, RP are straight lines, and £RST = 58° 2PT(Q = 53°, find
the size of 2T PQ.(without giving reason)
7.

oD

oC

oB

Consider the quadrilateral ABCDwith A(-2,0), B(1,-1), ((5,1) and D(4, 3) .
Copy the diagram with all the information given.

() Find the lengths of AD and BC.

(ii)  Find the gradient of AD.

(iii)  Show that the equation of the line passing through A and D is given by

x—2y+2=0.

(iv)  Show that AD||BC.

(v)  What type of quadrilateral is ABCD?

(vi) Calculate the perpendicular distance of B from the line AD.

(vii) Calculate the area of ABCD.

8.  Differentiate the following
0  y=5x3+-

(ii) _ 3x2+10x
X
(iii) y=CBx+7)(1-x)3
. 5x2-2
(iv) y= 2x+1
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10.

11.

12.

13.

Find the derivative of the function given by y = x? + 2x using first principles.

Find the equation of the line which is passing through the intersection of
x—3y+5=0 and x + 2y = 0 and the point (3, 1).

(D Show that the equation of the normal to the curve y = \/% at(2,1)is

givenby x — 2y = 0.

(i)  Find the coordinates of the point ¢ where the normal meets the curve again.

E
In the diagram ABCDis a square and A£F is an equilateral
triangle. EF bisect LAEB. £EAF = £DAF. Copy the diagram
and label the given information.

(D) Show that ZBAF = 15°.

A 5 (ii) ProvethatEF = DF

D

ABC is a triangle and N is point on AC. ZABN = 2£CBN = £BCN = 6. BC = 2a,

CA=b,AB=c.BN =d.
A

B C

(D) Copy the diagram, labelling all of the given information.
(i)  Explainwhy CN =d

(iii) Provethat ZANB = £ABC

(iv) Prove that AABN is similar to AACB.

(v)  Show that 2ac = bd

(vi)  Hence show that ¢? = b? — 2ac

~ End of Exam ~
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